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QUESTION NO: 1

Which of the following objects is not covered by Time Travel?
A. Tables

B. Schemas

C. Databases

D. Stages

ANSWER: D

QUESTION NO: 2

True or False: A Virtual Warehouse can be resized while suspended.
A. True

B. False

ANSWER: A

QUESTION NO: 3

What features that are part of the Continuous Data Protection (CDP) feature set in Snowflake do not require additional
configuration? (Choose two.)

A. Row level access policies
B. Data masking policies

C. Data encryption

D. Time Travel

E. External tokenization

ANSWER: C D

QUESTION NO: 4

What is the minimum Snowflake edition that has column-level security enabled?
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A. Standard
B. Enterprise
C. Business Critical

D. Virtual Private Snowflake

ANSWER: B

QUESTION NO: 5

Snowflake supports the use of external stages with which cloud platforms? (Choose three.)
A. Amazon Web Services

B. Docker

C. IBM Cloud

D. Microsoft Azure Cloud

E. Google Cloud Platform

F. Oracle Cloud

ANSWER: BD E

QUESTION NO: 6

Which statement describes pruning?

A. The filtering or disregarding of micro-partitions that are not needed to return a query.

B. The return of micro-partitions values that overlap with each other to reduce a query's runtime.
C. A service that is handled by the Snowflake Cloud Services layer to optimize caching.

D. The ability to allow the result of a query to be accessed as if it were a table.

ANSWER: A

QUESTION NO: 7

What impacts the credit consumption of maintaining a materialized view? (Choose two.)
A. Whether or not it is also a secure view

B. How often the underlying base table is queried
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C. How often the base table changes
D. Whether the materialized view has a cluster key defined

E. How often the materialized view is queried

ANSWER: D E

QUESTION NO: 8

Which statement MOST accurately describes clustering in Snowflake?

A. The database ACCOUNTADMIN must define the clustering methodology for each Snowflake table.
B. Clustering is the way data is grouped together and stored within Snowflake micro-partitions.

C. The clustering key must be included in the COPY command when loading data into Snowflake.

D. Clustering can be disabled within a Snowflake account.

ANSWER: B

QUESTION NO: 9

If 3 size Small virtual warehouse is made up of two servers, how many servers make up a Large warehouse?
A .4

B.8

C.16

D. 32

ANSWER: B

QUESTION NO: 10

How a Snowpipe charges calculated?
A. Per-second/per Warehouse size
B. Per-second/per-core granularity
C. Number of Pipes in account

D. Total storage bucket size
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ANSWER: B

QUESTION NO: 11

Which of the following statements describes a benefit of Snowflake’s separation of compute and storage?
(Choose all that apply.)

A. Growth of storage and compute are tightly coupled together

B. Storage expands without the requirement to add more compute

C. Compute can be scaled up or down without the requirement to add more storage

D. Multiple compute clusters can access stored data without contention

ANSWER: BCD

QUESTION NO: 12

Network policies can be applied to which of the following Snowflake objects? (Choose two.)
A. Roles

B. Databases

C. Warehouses

D. Users

E. Accounts

ANSWER: AD

QUESTION NO: 13

Which data types are supported by Snowflake when using semi-structured data? (Choose two.)
A. VARIANT

B. VARRAY

C. STRUCT

D. ARRAY

E. QUEUE

ANSWER: AD
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QUESTION NO: 14

Which privilege is required for a role to be able to resume a suspended warehouse if auto-resume is not enabled?
A. USAGE

B. OPERATE

C. MONITOR

D. MODIFY

ANSWER: B

QUESTION NO: 15

User-level network policies can be created by which of the following roles? (Select TWO).
A. ROLEADMIN

B. ACCOUNTADMIN

C. SYSADMIN

D. SECURITYADMIN

E. USERADMIN

ANSWER: D E
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